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= = R AN [ R AN I = = TR AN = R AN g =
Floma | BTV v | B2 | e | oo e | B | e [T e | B2 [T | B | M
; 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~ - -
Zhst 1.00)| 000 ~ 373 54.90 | #nLlst | 000 ~ 000 1.61 7.10 Zhst 100|500 ~ 580 54.90 | st | 500 ~ 580|161 7.10
2 100kN/m#%#BZ5| 1.00 | 000 ~ 1.04| 11770 |3mERBZS -~ - - -| 100kN/m# 25 | 1.00 | 1280 ~ 1764 | 117.70 |3m&EEZD -~
FhnLs 100|104 ~ 7.72| 100.00 | Fhist | 0oo ~ 772|262 11.51 Fhns 100|500 ~ 1280 100.00 | #nLst | 600 ~ 1764|262 11.51
3 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
FhnLs 100|000 ~ 622 9237 | #hs | 000 ~ 622|260 11.42 Fhns 100|500 ~ 1205 9237 | #nLSY | 5,00 ~ 1205 | 2.60 11.42
4 100kN/mM%#B%2% | 1.00| 000 ~ 069 111.66 |3mEBZD -~ - - -| 100kN/mi# 25 | 1.00 | 1308 ~ 1609 | 111.66 |3mEEZD -~
Zhst 100|069 ~ 738 100.00| Tnilst | 000 ~ 738|267 11.76 Zhst 1.00)| 5600 ~ 1308 100.00| Thist | 500 ~ 1609|267 11.76
5 100kN/m%#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Fhs 100|000 ~ 646 96.25 | #nLs | 000 ~ 646|226 9.94 FhnLs 100|500 ~ 1200 96.25 | #nLSY | 5.00 ~ 1200 2.26 9.94
P 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Zhst 1.00)| 000 ~ 576 85.02 | #hpst 000 ~ 000|173 7.63 Zhilst 100|500 ~ 991 85.02 | #hist | 500 ~ 991|173 7.63
- 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% %% - -~ - -|3mEHERS -~
Zhst 100|000 ~ 426 62.46 | #nLst | 000 ~ 000|179 7.88 Zhist 100|500 ~ 618 62.46 | Thist | 500 ~ 6.18|1.79 7.88
g 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~ - - -
Zhst 1.00) 0.00 ~ 399 58.68 | #nLst | 000 ~ 000|170 7.46 Zhst 100|500 ~ 587 5868 | #nLlst | 500 ~ 587|170 7.46
9 100kN/mZ#8% % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Zhst 1.00) 000 ~ 377 55649 | Fhist | 000 ~ 377|197 8.68 Zhist 1.00 500 ~ 560 5649 | #nLlst | 500 ~ 560|197 8.68
0 100kN/mZ#82 % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% %% - -~ - -|3mEHERS -~
Zhst - -~ - -| Zhilst -~ - - - Zhst - -~ - -| #hilst -~
11 100kN/m%#82 % - -~ - -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -|3mEHERS -~
Zhst - -~ - -| £hilst -~ - - - Zhst - -~ - -| #hilst -~
100kN/m%#8% % ~ ImEBZD ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst ~ Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEBZD ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst ~ Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEBZD ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zhst ~ Zhllst ~ Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEEZD ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zh s ~ Zhn st ~ Zh s ~ Zhn st ~
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= = R AN [ R AN I = = TR AN = R AN g =
Floma | BTV v | B2 | e | oo e | B | e [T e | B2 [T | B | M
12 100kN/mZ#8% % - ~ -|3mEEZS -~ - -| 100kN/ Mm% 2% - -~ -|3mEHERS -~ -
Zhst 1.00)| 000 ~ 373 54.98 | #FnhLst | 000 ~ 0.00) 193 847 Zhst 100|500 ~ 540 54.98 | #nLlst | 500 ~ 540 1.93 847
13 100kN/mZ#8% % ~ -|3mEEZS -~ -| 100kN/ Mm% %% - -~ -|3mEHERS ~
Zhst 1.00) 000 ~ 387 56.93 | Fhist | 000 ~ 000|174 7.64 Zhst 100|500 ~ 553 56.93 | #nLst 500 ~ 553|174 7.64
14 100kN/mZ#8% % ~ -|3mEEZS -~ -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Zhst 1.00) 000 ~ 455 66.72 | #hst 000 ~ 000|179 7.88 Zhiist 100|500 ~ 676 66.72 | Thist | 500 ~ 6.76 | 1.79 7.88
5 100kN/mZ#8% % ~ -|3mEEZS -~ -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Zhst 1.00 ) 0.00 ~ 538 79.19 | #hst | 000 ~ 000|183 807 Zhilst 100|500 ~ 862 79.19 | #hist | 500 ~ 862 | 1.83 807
16 100kN/m%#8% % ~ -|3mEEZS -~ -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Zhst 100|000 ~ 542 79.80 | #hst | 000 ~ 000|183 807 Zhilst 100|500 ~ 872 79.80 | #hist | 500 ~ 872 | 1.83 807
17 100kN/mZ#8% % ~ -|3mEEZS -~ -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Zhst 1.00) 000 ~ 577 85.32 | #hpst | 000 ~ 000|184 8.08 Zhilst 100|500 ~ 9.66 85.32 | #nist | 500 ~ 9.66 | 1.84 8.08
18 100kN/mZ#8% % ~ -|3mEEZS -~ -| 100kN/ Mm% %% - -~ -|3mEHERS ~
Zhst 1.00) 000 ~ 627 93.27 | #nkst | 000 ~ 000 1.89 8.30 Zhst 1.00)| 500 ~ 1122 9327 | #hist | 500 ~ 1122 1.89 8.30
19 100kN/mZ#8% % ~ -|3mEEZS -~ -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Fhs 1.00 | 0.00 ~ 6.49 96.85 | =hdst | 000 ~ 000|189 831 Fhns 1.00 | 5.00 ~ 119 96.85 | =L | 5,00 ~ 1196 1.89 831
20 100kN/mZ#8% % ~ -|3mEEZS -~ -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Zhst ~ Zhllst -~ Zhst - -~ Zhllst ~
27 100kN/mZ#82 % ~ -|3mEEZS -~ -| 100kN/ Mm% %% - -~ -|3mEHERS ~
Zhst ~ Zhllst -~ Zhst - -~ Zhllst ~
29 100kN/m%#82 % ~ -|3mEEZS -~ -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Zhst ~ Zhllst -~ Zhst - -~ Zhllst ~
23 100kN/m%#8% % ~ -|3mEEZS -~ -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Zhst ~ Zhllst -~ Zhst - -~ Zhllst ~
Py 100kN/mZ#8% % ~ -|3mEEZS -~ -| 100kN/ Mm% 2% - -~ -|3mEHERS ~
Zhst ~ Zhllst -~ Zhst - -~ Zhllst ~
25 100kN/mZ#8% % ~ -|3mEEZS -~ -| 100kN/ Mm% % % - -~ -|3mEHERS ~
Zhst ~ Zhllst -~ Zhst - -~ Zhllst ~
26 100kN/mZ#8% % ~ -|3mEEZS -~ -| 100kN/ Mm% %% - -~ -|3mEHERS ~
Zh s ~ Zhn st -~ Zh s - -~ Zhn st ~
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27 100kN/m#%#BZ5| 1.00 | 000 ~ 077 11297 |3mERBZ5 -~ - -| 100kN/m# 2% | 1.00 | 1262 ~ 1607| 11297 |3mEEZD -~ -

FhnLis 1001077 ~ 745 100.00 | Thist | 000 ~ 745|233 10.26 FhLs 100|500 ~ 1262 100.00 | #nhst | 5.00 ~ 1607|233 10.26
28 100kN/m#%#BZ5| 1.00 | 000 ~ 093 11578 |3Im&ERBZS ~ -| 100kN/m# 25 | 1.00 | 1294 ~ 1718| 115.78 |3m&EHBEZD ~ -

ZFh st 100|093 ~ 761 100.00| Tnidst | 000 ~ 761|265 11.64 ZFh st 100500 ~ 1294 100.00| Tnst | 500 ~ 1718| 2.65 11.64
29 100kN/m#%#BZ5| 1.00 | 000 ~ 055| 10918 |3mERBZS -~ - - -| 100kN/m# 2% | 1.00 | 1274 ~ 1500| 109.18 |3mEEZD ~

FhnLs 1001055 ~ 723 100.00 | =nLst | 000 ~ 723|260 11.42 ZhLs 1.00 | 5.00 ~ 1274 100.00 | =nLst | 5.00 ~ 1500 | 2.60 11.42
20 100kN/m#%#BZ5| 1.00 | 000 ~ 043| 10716 |3mERBZS -~ - - -| 100kN/m# 25 | 1.00 | 14220 ~ 1670 | 107.16 |3mEEZD ~

FhLs 100|043 ~ 711 100.00 | #npst 000 ~ 711229 10.06 Fhns 100|500 ~ 1420 100.00 | =nhst | 5.00 ~ 1670 2.29 10.06
21 100kN/m%#8% % ~ -|3mEEZS ~ -| 100kN/ Mm% 2% - -~ -|3mEHERS ~ -

Fhs 100|000 ~ 654 97.64 | =S | 000 ~ 654|209 9.20 FhnLs 100|500 ~ 1470 97.54 | EnLSY | 5,00 ~ 1470 | 2.09 9.20
32 100kN/m#%#BZ5| 1.00 | 000 ~ 042 10709 |3mEBZS -~ - - -| 100kN/m# 2% | 1.00 | 1571 ~ 1900| 107.09 |3mEEZD ~

Fhs 100|042 ~ 711 100.00 | #hst 000 ~ 711222 9.78 Fhns 100|500 ~ 1571 100.00 | =nbst | 5.00 ~ 19.00) 222 9.78
23 100kN/m#%#BZ5| 100|000 ~ 1.16| 119.79 |3mEHBZS -~ - - -| 100kN/m# 2% | 1.00 | 1301 ~ 1970 119.79 |3mEEZSD ~

Fhs 100|116 ~ 784 100.00| Fhis |0o0 ~ 784|239 10.50 Fhns 100|500 ~ 1301 100.00 | =nLst | 5.00 ~ 19.70) 2.39 10.50
24 100kN/m#%#BZ5| 1.00 | 000 ~ 082 11383 |3ImERBZS -~ - - -| 100kN/m# 25 | 1.00 | 1261 ~ 1630| 113.83 |3m&EEZD ~

ZFh st 100|082 ~ 750 100.00| Tnilst | 000 ~ 750|250 10.99 ZFh st 100500 ~ 1261 100.00| Tns | 500 ~ 1630|2.50 10.99
25 100kN/m#%#BZ5| 1.00 | 000 ~ 004| 100.61 |3mERBZS -~ - - -| 100kN/m# 25 | 1.00 | 1324 ~ 1340| 100.61 |3mEEZD ~

Fhns 100004 ~ 672 100.00 | Fhist | 000 ~ 672|221 9.74 Fhs 100|500 ~ 1324 100.00 | =nLst | 5.00 ~ 1340|221 9.74
26 100kN/mZ#82 % ~ -|3mEEZS -~ - - -| 100kN/ Mm% %% - -~ -|3mEHERS ~

Fhns 1.00 | 0.00 ~ 560 82568 | =St | 000 ~ 560|272 11.95 Fhs 1.00 | 5.00 ~ 1110 82568 | =St | 6.00 ~ 1110|272 11.95
P 100kN/m%#82 % ~ -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ -|3mEHERS ~

ZFh st 1.00 | 000 ~ 580 85.78 | #nist | 000 ~ 000 1.91 842 ZFh st 100500 ~ 9.90 85.78 | #nhist | 500 ~ 9.90 | 1.91 842
38 100kN/m%#8% % ~ -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ -|3mEHERS ~

ZFh st 100000 ~ 204 32.25 | #nLst | 000 ~ 204 266 11.70 ZFh st 100500 ~ 6.60 3225 | #nist | 500 ~ 6.60 | 2.66 11.70
29 100kN/mZ#8% % ~ -|3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ -|3mEHERS ~

ZFh st 100|000 ~ 473 69.43 | #FnLst | 000 ~ 4.73|1.88 10.06 ZFh st 100500 ~ 720 69.43 | Fhist | 500 ~ 7.20 | 1.88 10.06

100kN/mZ#8% % ~ ImEBZD ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zh st ~ ZFh st ~ ZFh st ~ ZFh st ~
100kN/mZ#8% % ~ ImEEZD ~ 100kN/MZEHEZ 5 ~ ImEBRD ~
Zh s ~ Zhn st ~ Zh s ~ Zhn st ~
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